p(r)

Ratio to ATLAS

10

1071

[EEY

0.5

7000 GeV pp Jets
:l I I I I I I |:_g
L 1o
>
L — O
L 1=
- m ATLAS _tg
| --H3-- Herwig 7.2.0 default N
—a— Pythia 8.180 default <
| ~#- Sherpa 1.3.0 default @
= J2
- =
B mie)
™
<t
(40)
- e}
— — 0
L — M
— —
— 1=
B HEs
— .S
| —
(&)
o <
]
Q
)
| |5
I -1
: ] (&)
T S IR | . £ E
:l T T T | T T | T |:
— -2
: e mmm—— - - - - - mme=—— .-.---.--_--_--_"_"_“_",Q --------------------- ’ :
F— "';Q_ % """""""""""" j _______ == 1
| —0.5
| 1 1 1 | 1 1 | 1 |
0 0.2 0.4 0.6



	Contents
	Page 1


